MATH KANGRAGOO 2009

1. The figure shown in the picture on the right is build of
idential wooden cubes. How many cubes were used to
build it? o
Hinh bén dwoc tgo thanh bang cach ghép cac khoi ldp
phirong bang go véi nhau. Héi ¢6 bao nhiéu khoi lap phuong
da dwoc dung?
A) 12 B) 8 C)9 D) 10

2. What is the sum of the digits in the number 2009?
A) 7 B) 11 C)12 D) 18

3. The picture shows the birthday cakes of Ala, Ola, Ela and Ula.
Trong hinh & nhéing chiéc banh sinh nhat cua Ala Ola, Elava Ula.
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Hdi ban nao nhiéu tusi nhat?
A) Ala B) Ola C) Ela D) Ula

4. Which plate has fewer apples than pears?
Chiéc dia nao co it tao hon 18?




5. In the table shown in the picture, Ola wrote four
numbers which have a sum of 50. What number is the ¥ o P,
butterfly sitting on? v
Trong hinh bén, Ola viét 4 sé c6 tong 1a 50. Héi & ¢6 hinh 70 17
con buém duwoc viét sé bao nhiéu? '
A) 18 B) 8 C)9 D) 13

6. Peter has 12 toy cars, and Paul has 4 more toy cars than Peter. How many
toy cars do Paul and Peter have together?
Peter ¢6 12 chiéc 6 16 do choi. Paul ¢6 nhiéu hon Peter 4 céi. Héi ca 2 ban c6 tdt ca
bao nhiéu chiéc 6 16 do choi?
A) 28 B) 16 C) 48 D) 20

7. After Snow White, the Prince and the 7 Dwarfs ate one apple each, there
were 4 apples left in the basket. How many apples were there in the basket
before they ate any?

Sau khi Bach Tuyeét, Hoang tir va 7 cha 10n méi nguwoi an 1 qud tao thi trong gié con
lai 4 qud. Héi liic dau trong gié c6 bao nhiéu qud?
A) 8 B) 9 C) 13 D) 14

8. The duck in the picture is subtracing some numbers. Two
butterflies landed on the picture, each covering up the
same digit. What digit are the butterflies covering?

Chu vit dang lam phep trir trén gidy thi 2 chl buém dau xuOng
che mdt 2 chiz s6 giong nhau nhwe hinh minh hoa. Héi chit sé
ndo da bi che mat?

A) 3 B) 6 C)8 D) 4




9.

10.

11.

On the last day of school, a father took his :

three children to the circus. How much did TICKET B()(})TH
the father pay altogether for all their tickets? Child ticket |  $9
Ngay nghi, b ciing ba anh em di xem xiéc. Hoi Adult ticket | %12
Cd nha da mua vé hét bao nhiéu tien? "

A) $48  B)$21 C)$39 D) $30

Anna performed two operations. She puts stickers over some of the
numbers-the same stickers over the same numbers.

Anna dang lam phép tinh. Ban dy ldy mét sé nhan dan che di vai con sé, sao cho sé
giong nhau dwoc che béi nhan dan giong nhau nhw trong hinh.

21-7="1
2 X By =%§4+ 1
What number can be found under the % sticker?

Hai sé ndo bi che bai %?
A) 15 B) 14 C) 25 D) 27

The doctor gave a certain medicine to Ada. He gave her 60 pills, and told her
to take one pill each day. Ada began taking the pills on a Monday. What day of
the week will it be when she takes the last pill?

Bdc si dwa cho Ada 60 vién thuéc va dgn ban dy méi ngay uéng 1 vién. Ada bat dau
uéng thuac vao thiz 2. Héi Ada udng vién thuac cugi cing vao thi may?

A) Monday B) Tuesday C) Wednesday D) Thursday



12. Sophie’s mother bought 6 identical boxes of crayons. Sophie took out all the
crayons from two of the boxes-there were 18 crayons. How many crayons did
her mother buy altogether?

Me ciia Sophie mua 6 hgp bat chi mau giong nhau. Sophie ldy tat ca bat trong 2 hgp
ra thi ¢ 18 chiéc bat. Héi me ciia Sophie di mua tat ca bao nhiéu chiéc bat mau?
A) 26 B) 54 C) 24 D) 108

13. Tom is 2 inches taller than Peter, and 5 inches taller than Paul. How many
inches taller is Peter than Paul?
Tom cao hon Peter 2 inch va cao hon Paul 5 inch. Hoi Petter cao hon Paul bao
nhiéu?
A)7 inches B)3inches C) 10 inches D)Paul is taller than Peter/Paul cao hon Peter

14. Eva drew 6 flowers, and Ola drew 4 hearts. llona drew 3 times fewer flowers
than Eva, and llona drew 2 hearts more than Ola. Which of the picture below
did llona draw?

Eva vé 6 bong hoa, Ola vé 4 trai tim. llona vé it hoa hon Eva 3 lan, nhung lai vé
nhiéu hon Ola 2 trdi tim. Héi llona da vé birc tranh ndo dudi day?
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15. What is the diffirence between the largest and the
smallest of the numbers that fell out of Mr.Mouse’s
briefcase(see in the picture).




16.

18.

Tim hiéu gizza sé 1én nhdt va sé nhé nhadt roi ra tir cap cua ban chugt.
A) 3 B) 5 C)7 D) 9

ET must have the clock which shows exactly 6:00.
Which clock will he choose?

ET phdi chon cdi dong hé dang chi chinh xac 6:00. Héi d6
la cai nao?

. In the certain zoo, there were 19 monkeys. Among them were 4 chimpanzees

and 3 baboons. The rest of the monkeys were gorillas, which were placed in
three cages, the same number of gorillas in each cage. How many gorillas
were in one of the cages?

Trong mét vueon thi c6 19 con thuge ho khi. Trong sé dé cé 4 con tinh tinh va 3 con
khi dau ché, con lai & khi dét. Nhiing con khi doét nay dwoc chia déu ra nhét trong 3
chiéc long. Hoi méi long c6 bao nhiéu con khi dgt?

A) 5 B) 4 C)3 D) 6

Right now, John is 4 years old, and his father is 26 years old. How old will
John’s father be when John is 3 times as old as he is now?



Hién tai John 4 tudi con bé ban dy 26 tusi. Hai khi sé tugi cua John gdp 3 lan bay gio
thi bé John bao nhiéu tugi?
A) 78 B) 38 C) 42 D) 34

19. Grandma made some cheese dumplings and some blueberry dumpling.
Altogether, she made 31 dumplings. If she had made 11 more cheese
dumpilng, then there would be the same number of blueberry dumplings as
cheese dumpling. How many cheese dumpling did granma make?

Ba ngoai lam dwoc tong céng 31 chiéc banh phd mai va banh viét qudt. Néu nhw ba
lam thém 11 chiéc banh phd mai thi 2 logi banh c6 sé wong bang nhau. Héi ba da
lam dwoc bao nhiéu chiéc banh phd mai?

A) 10 B) 21 C) 20 D) 15

20. Eva bought 2 identical notebooks. She had $4 left over. If she wanted to buy
two more notebooks like these, she would need $2 more than she start with.
How much did one notebook cost?

Eva mua 2 quyén vé giong hét nhau va con dw lai 4%. Néu nhw ban dy mua thém 2
quyén nhur vdy niza, thi ban dy can nhiéu hon 2$ so Véi sé tién ban dy c6 ban dau. Héi
mét quyén v gia bao nhiéu tién?

A) $2 B) $10 C) $6 D) $3



21.

Adam, Matt, Paul and Tom were looking at their stamp collections. They found
that Matt had more stamps than Paul, and Tom had fewer than Adam. Also,
Tom did not have the smallest number of stamps. Which of the boys had the
least number of stamps?

Adam, Matt, Paul va Tom dang ngdm bé sueu tdp tem cua ho. Ho nhdn ra rang Matt
cO nhiéu tem hon Paul, Tom cé it hon Adam. va Tom khong co it tem nhat. Héi ai 1a
nguroi ¢ sé tem it nhdt?

A) Adam B)Matt C) Paul D) Cannot be determined/khdng xac dinh duwoc

. Father was gathering mushroom for 2 hours. During the first hour, he found 39

mushrooms. How many mushroom did he gather during the second hour, if it
is known that in 40 minutes mother cleaned all the mushroom father gathered,
and she cleaned 7 mushroom each 5 minutes?

B6 di hai nam trong 2 gio. Trong gio dau tién dng tim duwroc 39 cay nam. Héi trong gio
thi# hai Ong dy hdi dwoc bao nhiéu nam, biét rang ciz 5 phlt me rita dwoc 7 cay nam
va trong 40 phiit da riva Sach tat ca so nam hdi duwoc.

A) 39 B) 17 C) 74 D) 56
23. Which triangle is Tringhi’s twin brother(see the 6 :
picture) 3 £ 3
Tim tam giac bang tam giac Tringhi
5 <
A) 3 B) 4 C)5 D) 6
24. How many diffirent three-digit numbers can we make that have three diffirent

digit using the digit 1,2 and 3?
Tir ba chiz s 1,2 va 3 ¢ thé teo thanh bao nhiéu sé cé ba chir sé khac nhau?
A) 3 B) 6 C)8 D) 12



